G5-Mb-Lesson 25

Jason and Selena had $96 altogether at first. After jason spenté of his money and Selena lent $15 of her

money, they had the same amount of money left. How much money did each of them have at first?

This is important. After Jason spends and Selena lends, then they have
the same amount left. | need to make sure that my model shows this.

| partition the tape representing Jason’s money

into 5 equal parts to show the % that he spent. spent

Jason:
e 385
Selena: $15
i
¥
fent

My model shows me that 9
units, plus the $15 that

. To show that Selena and Jason have the same amount
Selena lent, is equal to $96. of money left, | partition the tape representing Selena’s
money the same way that | did Jason’s.

G units + $15 = 196 Jason: Selena:
9 units = $81 1 unir = %9 1iunit=39
1 unit = 3581 -9 =49 5 units = 5 X 39 = $45 Ldunits =4 X $9 =336

$36 + $15 = $51

Now that | know the value of 1.
unit, | can find ocut how much

money they each had at first. Joson hod $45 at first, Selena hod $51 at first.

44 Lesson 25: Make sense of complex, multi-step problems and persevere in solving EUREKA

them. Share and critigue peer solutions. MATHW
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